A

Human Resources Manager
You are meeting today with the Trade Union Representative to discuss new working practices. It will be necessary to implement a major downsizing programme in the company to shed 150 jobs over the next six months. This is the policy of the US parent company which you are required to follow strictly. Explain to the Union Representative that this will mean improved pay and conditions for the remaining staff – if they agree to join the new training programme you will introduce.

B

Trade Union Representative
You represent the majority of the workforce in your company. Since the company was taken over by an American multinational there have been a number of changes to working practices that the workers don’t like, such as extra responsibility without increased salary, and longer working hours. You are meeting today with the Human Resources Manager to explain to him why the workers aren’t satisfied – there is too much change, and it’s happening too quickly.

